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(B) ~¢H$m°H$ KmofUm 

(C) Am{g`mZ KmofUm 
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General Instructions : 

Read the following instructions very carefully and follow them : 

(i) This question paper contains 30 questions. All questions are compulsory.  

(ii) Question paper is divided into five sections  Sections A, B, C, D and E.  

(iii) Section A  questions number 1 to 12 are Multiple Choice type questions. Each 
question carries 1 mark.   

(iv) Section B  questions number 13 to 18 are Short Answer type  
questions. Each question carries 2 marks. Write answer to each question in  
50 to 60 words.  

(v) Section C  questions number 19 to 23 are Long Answer type-I  
questions. Each question carries 4 marks. Write answer to each question in  
100 to 120 words. 

(vi) Section D  questions number 24 to 26 are Passage, Cartoon and Map-based 
questions. Answer each question accordingly. 

(vii) Section E  questions number 27 to 30 are Long Answer type-II questions. 
Each question carries 6 marks. Write answer to each question in 170 to 180 
words. 

(viii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
has to be attempted. 

(ix) In addition to this, note that a separate question has been provided for Visually 
Impaired candidates in lieu of questions having visual inputs, map etc. Such 
questions are to be attempted by Visually Impaired candidates only.  

SECTION A 

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark  
each. 12 1=12 

1. Which one of the following was signed to establish ASEAN ?  

(A) Singapore Declaration 

(B) Bangkok Declaration 

(C) ASEAN Declaration 

(D) Beijing Declaration 
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2  (A) 

(R) 

(A), (B), (C) (D) 

2. (A) : ^maV Am¡a Zonmb Ho$ ~rM _Ywa gå~ÝY h¢ Am¡a XmoZm| Xoem| Ho$ ~rM EH$ 
g§{Y hþB© h¡ &  

(R) : Zonmb Ho$ amOm Zo 2001 _| EH$ _O~yV bmoH$V§Ì-g_W©H$ Am§XmobZ Ho$ 
H$maU EH$ ZE bmoH$Vm§{ÌH$ g§{dYmZ H$s _m±J H$mo ñdrH$ma H$a {b`m & 

{dH$ën : 

(A) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢ Am¡a H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m H$aVm h¡ & 

(B) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢, naÝVw H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m   H$aVm h¡ & 

(C) A{^H$WZ (A) ghr h¡, naÝVw H$maU (R) µJbV h¡ & 

(D) A{^H$WZ (A) µJbV h¡, naÝVw H$maU (R) ghr h¡ &  

3. {H$g KQ>Zm Zo OZVm nmQ>u Ho$ JR>Z H$m _mJ© àeñV {H$`m ? 

(A) N>mÌ Am§XmobZ 

(B) 1969 H$m amï>́n{V MwZmd 

(C) 1975 H$s AmnmVH$mb KmofUm 

(D) 1974  

4. {ZåZ{b{IV _| go H$m¡Z-gm Am§XmobZ CÎma-nyd© Ho$ bmoJm| Ûmam AnZr joÌr` AmH$m§jmAm| H$mo 
ì`º$ H$aZo Ho$ {bE  {H$`m J`m Wm ? 

(A) ~mhar bmoJm| Ho$ {Ibm\$ Am§XmobZ 

(B) A{YH$ ñdm`ÎmVm Ho$ {bE Am§XmobZ 

(C) nydm}Îma Ho$ amÁ`m| H$m g§K ~ZmZo Ho$ {bE Am§XmobZ  

(D) AbJmd Ho$ {bE Am§XmobZ 



13-59/3/2 5 P.T.O. 

For Question number 2, two statements are given  one labelled as Assertion (A) 

and the other labelled as Reason (R). Read these statements carefully and choose the 

correct option as the answer from the options (A), (B), (C) and (D) given below. 

2. Assertion (A) : India and Nepal enjoy friendly relations and both have 

signed a treaty.  

Reason (R) : The king of Nepal accepted the demand for a new 

democratic constitution in 2001, in the wake of a strong  

pro-democracy movement. 

Options : 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 

the correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true. 

3. Which incident paved the path to form the Janata Party ? 

(A) ment 

(B) Presidential Election of 1969 

(C) Declaration of Emergency in 1975 

(D) Railway Strike, 1974 

4. Which one of the following movements was not started by the people of 
North-East to express their regional aspirations ? 

(A) Movement against outsiders  

(B) Movement for greater autonomy 

(C) Movement to form a union of North-East States  

(D) Movement for secession  
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5. lrb§H$m _| OmVr` g§Kf© Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ   h¡ ? 

(A) lrb§H$m _| amOZr{V qgh{b`mo§ Ho$ nj _| Wr & 

(B) V{_bm| Ho$ {hVm| H$s Cnojm H$s JB© &  

(C) {bQ>²Q>o H$mo gmH©$ Xoem| H$m g_W©Z àmá Wm & 

(D) lrb§H$m H$s OmVr` g_ñ`m _| qghbr Am¡a V{_b em{_b Wo &  

6. ^maV Ho$ {H$g joÌ H$mo gmV ~hZ|  H$hm OmVm h¡ ? 

(A) CÎma-nyd© joÌ (B) X{jU-npíM_ joÌ 

(C) CÎma-npíM_ joÌ (D) X{jU-nyd© joÌ 

7  (A) 
(R) 

(A), (B), (C) (D) 

7. (A) : 
1951 go \$adar 1952 VH$ MwZmd Am`mo{OV {H$E JE & 

(R) : A~ `h VH©$ XoZm g§^d Zht Wm {H$ µJar~r `m A{ejm Ho$ _mhm¡b _| 
bmoH$Vm§{ÌH$ MwZmd Zht hmo gH$Vo h¢ & 

{dH$ën : 

(A) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢ Am¡a H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m H$aVm h¡ & 

(B) A{^H$WZ (A) Am¡a H$maU (R) XmoZm| ghr h¢, naÝVw H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m   H$aVm h¡ & 

(C) A{^H$WZ (A) ghr h¡, naÝVw H$maU (R) µJbV h¡ & 

(D) A{^H$WZ (A) µJbV h¡, naÝVw H$maU (R) ghr h¡ &  

8. 1974 \$ Am§XmobZ {H$`m Wm ? 

(A) CÎma àXoe Am¡a {~hma 

(B) amOñWmZ Am¡a {~hma 

(C) {~hma Am¡a JwOamV 

(D) {~hma Am¡a _Ü` àXoe 
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5. Which one of the following statements about the ethnic conflict in  
Sri Lanka is false ? 
(A) Politics in Sri Lanka favoured the Sinhalese.  
(B) Interests of Tamils were neglected. 
(C) LTTE was supported by the SAARC countries. 
(D) The Sri Lanka ethnic problem involved the Sinhalese and the 

Tamils. 

6.  
(A) North-East region (B) South-West region 
(C) North-West region (D) South-East region 

For Question number 7, two statements are given  one labelled as Assertion (A) 
and the other labelled as Reason (R). Read these statements carefully and choose the 
correct option as the answer from the options (A), (B), (C) and (D) given below. 

7. Assertion (A) : The first general elections in India had to be postponed 
twice and were finally held from October 1951 to 
February 1952. 

Reason (R) : It was no longer possible to argue that democratic 
elections could not be held in conditions of poverty or lack 
of education. 

Options : 
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 

the correct explanation of the Assertion (A).  
(C) Assertion (A) is true, but Reason (R) is false.  
(D) Assertion (A) is false, but Reason (R) is true. 

8. Students of which two states started an agitation against the rising food 
prices in 1974 ? 
(A) Uttar Pradesh and Bihar 
(B) Rajasthan and Bihar 
(C) Bihar and Gujarat 
(D) Bihar and Madhya Pradesh 
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9. {ZåZ{b{IV _| go H$m¡Z ^maV H$m àW_ _w»` MwZmd Am`wº$ Wm ?

(A) gwHw$_ma goZ (B) H$ny©ar R>mHw$a 

(C) Ho$. H$m_amO (D) Za|Ð Xod 

10. gyMr I H$m gyMr II go ghr {_bmZ H$s{OE : 
 I  II 

1. ỳamonr` _wÐm (i) \«$m§g 
2. {deof Am{W©H$ joÌ (ii) Am{g`mZ 

3. g§ ẁº$ amîQ>́ gwajm n[afX² H$m ñWmB© gXñ` Xoe  (iii) ỳamo 

4. joÌr` g§JR>Z (iv) MrZ 

 

(A) 1-(iii), 2-(iv), 3-(i), 4-(ii) (B) 1-(iii), 2-(i), 3-(ii), 4-(iv) 

(C) 1-(ii), 2-(i), 3-(iv), 4-(iii) (D) 1-(iv), 2-(ii), 3-(iii), 4-(i) 

11. {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma ì`dpñWV H$s{OE : 

(i) {díd ~¢H$ H$s ñWmnZm 

(ii) {díd ì`mnma g§JR>Z H$s ñWmnZm 

(iii) g§ ẁº$ amï>́ g§K H$s ñWmnZm 

(iv) AÝVam©ḯ>r` AmpÊdH$ D$Om© EOoÝgr H$s ñWmnZm 

ghr {dH$ën Mw{ZE : 

(A) (i), (iii), (iv), (ii) 

(B) (ii), (i), (iii), (iv) 

(C) (iii), (ii), (i), (iv) 

(D) (iii), (i), (iv), (ii) 
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9. Who among the following was the First Chief Election Commissioner of 
India ?  

(A) Sukumar Sen (B) Karpoori Thakur 

(C) K. Kamaraj (D) Narendra Dev 

 

10. Match List I correctly with List II :  

 List I  List II 

1. European Currency (i) France 

2. Special Economic Zone (ii) ASEAN 

3. A permanent member country of UN Security 
Council  

(iii) Euro 

4. A Regional Organisation (iv) China 

Choose the correct option : 

(A) 1-(iii), 2-(iv), 3-(i), 4-(ii) (B) 1-(iii), 2-(i), 3-(ii), 4-(iv) 

(C) 1-(ii), 2-(i), 3-(iv), 4-(iii) (D) 1-(iv), 2-(ii), 3-(iii), 4-(i) 

 

11. Arrange the following events in chronological order : 

(i) Establishment of  the World Bank 

(ii) Establishment of the WTO 

(iii) Establishment of the UNO 

(iv) Establishment of the IAEA 

Choose the correct option : 

(A) (i), (iii), (iv), (ii) 

(B) (ii), (i), (iii), (iv) 

(C) (iii), (ii), (i), (iv) 

(D) (iii), (i), (iv), (ii) 
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12. {ZåZ{b{IV _o§ go H$m¡Z g§ ẁº$ amîQ>́ H$s EH$ EOoÝgr h¡ ?

(A) ỳZoñH$mo 

(B) {díd ñdmñÏ` g§JR>Z 

(C) ỳ{Zgo\$  

(D) g§ ẁº$ amîQ́> gwajm n[afX²  

 

IÊS> I 

13. amîQ´>r` AmnmVH$mb Kmo{fV H$aZo Ho$ H$moB© Xmo à^md {b{IE &  2 

14. MrZ Ûmam AnZr AW©ì`dñWm _| gwYma Ho$ {bE CR>mE JE {H$Ýht Xmo H$X_m| H$m CëboI 

H$s{OE & 2 

15. ~m§½bmXoe Ho$ g§{dYmZ H$s {H$Ýht Xmo {deofVmAm| H$mo COmJa H$s{OE &  2 

16. ~m°å~o ßbmZ H$s ì`m»`m H$s{OE & 2 

17. gm_m{OH$ JR>~§YZ Ho$ ê$n _| H$m±J«og nmQ>u H$s H$m ©̀àUmbr H$mo ñnîQ> H$s{OE &  2 

18. ^maV Am¡a MrZ Ho$ _Ü` {H$Ýht Xmo _V ôXm| H$m {díbofU H$s{OE, {OZHo$ H$maU 1962 _| 

g¡Ý` g§Kf© hþAm Wm & 2 
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12. Which one of the following is not an agency of the United Nations ? 

(A) UNESCO  

(B) WHO 

(C) UNICEF  

(D) UNSC 

 

SECTION B 

13. State any two effects of imposing national emergency.  2 

14. Mention any two steps taken by China to improve its economy. 2 

 

15. Highlight any two features of the Constitution of Bangladesh.  2 

16. Explain the Bombay Plan. 2 

17. Explain the functioning of the Congress Party as a social coalition.  2 

18. Analyse any two differences between India and China which led to a 

military conflict in 1962. 2 
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IÊS> J 

19. (H$)  ^maV _| JR>~§YZ gaH$ma| {H$g àH$ma bmoH$V§Ì Ho$ {bE daXmZ gm{~V hþB© h¢ ?  

ñnï> H$s{OE & 4 

  AWdm 

 (I)   2014 ? {H$Ýht Xmo 

H$maUm| H$mo ñnï> H$s{OE & 4 

20. Zonmb _| bmoH$V§Ì H$s ñWmnZm _| Xoar n¡Xm H$aZo dmbr {H$Ýht Xmo MwZm¡{V`m| H$m dU©Z  

H$s{OE & 4 

21. gmo{d`V àUmbr _| gwYma Ho$ {bE Jmo~m©Mod H$s ŷ{_H$m H$m dU©Z H$s{OE & 4 

22. (H$) ^maV Zo {d{^Þ AmYmam| na g§̀ wº$ amï´> Ho$ nwZJ©R>Z H$m g_W©Z {H$`m h¡ &  H$WZ 

H$s nw{ï> H$s{OE & 4 

  AWdm 

 (I)  g§ ẁº$ amḯ> _| gwYma bmZo H$m AW© gwajm n[afX² H$m nwZJ©R>Z H$aZm h¡ &  H$WZ H$mo 

Ý`m`g§JV R>hamBE & 4 

23. joÌr` AmH$m§jmE± VWm CZH$m g_m`moOZ ^maVr` bmoH$Vm§{ÌH$ amOZr{V H$m EH$ A{^Þ A§J 

h¢ &  {H$Ýht Xmo Cn ẁº$ VH$m] go H$WZ H$s nw{ï> H$s{OE & 4 
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SECTION C 

19. (a) How did the coalition governments prove to be a boon for 

democracy in India ? Explain. 4 

   OR 

 (b) In the 2014 elections, why were people in favour of a stable 

government at the Centre ? Explain any two reasons. 4 

20. Describe any two challenges that delayed the establishment of democracy 

in Nepal. 4 

21. Describe the role of Gorbachev to reform the Soviet system. 4 

22. (a)  

ort the statement. 4 

   OR 

 (b)  

Security C  4 

23. Regional aspirations and their accommodation are an integral part of 

Indian democratic politics. nt with any two suitable 

arguments. 4 
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IÊS> K 

24. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥îR> 15 na) _| Mma amÁ`m| H$mo                  

VWm     Ho$ Ûmam A§{H$V {H$`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZ amÁ`m| H$s 

nhMmZ H$s{OE Am¡a AnZr CÎma-nwpñVH$m _| BZHo$ ghr Zm_, à`moJ H$s JB© OmZH$mar H$s 

H«$_-g§»`m VWm _mZ{MÌ _| {X`m J`m g§~§{YV Aja, ZrMo Xr JB© Vm{bH$m Ho$ ê$n _| 

{b{IE : 4 1=4 

à`moJ H$s JB© OmZH$mar  
H$s H«$_-g§»`m 

_mZ{MÌ _| {X`m J`m  
g§~§{YV Aja 

amÁ` H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

 

(i) dh amÁ` Ohm± H$m±J«og nmQ>u H$mo 1967 Ho$ MwZmdm| _| ~hþ_V hm{gb Zht hþAm Wm & 

 
(ii) dh amÁ` Ohm± H$m±J«og nmQ>u Zo 1967 Ho$ MwZmdm| _| ~hþ_V hm{gb Zht {H$`m Wm, 

na§Vw AÝ` Xbm| Ho  g_W©Z$ go gaH$ma ~Zm br Wr & 

 

(iii) g_mOdmXr ZoVm am_ _Zmoha bmo{h`m go g§~§{YV amÁ` & 

 

(iv) ^maV Ho$ nyd© amï>́n{V dr.dr. {J[a go g§~§{YV amÁ` & 
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àíZ g§. 24 Ho$ {bE

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
 

B 

C 

A

D 
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SECTION D 

24. In the given political outline map of India (on page 17), four States  

have been marked as                    and      .   Identify these States on the 

basis of the information given below and write their correct names in 

your answer-book along with the respective serial number of the 

information used and the concerned alphabets given in the map as per 

the following format : 4 1=4 

 

Serial number of 
the information 

used 

Concerned 
alphabet given in 

the map 

Name of the 
State 

(i)   

(ii)   

(iii)   

(iv)   

 

(i) The State where the Congress party did not secure majority in 

1967 elections.  

 

(ii) The State where Congress party did not secure majority in 1967 

elections but formed the government with the support of other 

parties. 

 

(iii) The State related to Samajwadi leader, Ram Manohar Lohia.    

 

(iv) The State related to the former President of India, V.V. Giri. 



13-59/3/2 17 P.T.O. 

For question no. 24   

 

Outline Map of India (Political) 
 

B 

C 

A

D 
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: 24
  4  1=4

 (24.1)  bmb ~hmXþa emñÌr Zo H$m¡Z-gm à{gÕ Zmam {X`m Wm ? 

 (24.2)  ^maVr` amOZr{V Ho$ {H$g XeH$ H$mo IVaZmH$ XeH$  H$hm OmVm h¡ ? 

(24.3)  1969 Ho$ amḯ>n{V MwZmd _| BpÝXam Jm±Yr Zo {H$g Cå_rXdma H$m g_W©Z {H$`m Wm ?  
(24.4)  Am`m am_, J`m am_  Ow_bo go gå~pÝYV amÁ` H$m¡Z-gm h¡ ?  

25. ~{b©Z H$s Xrdma go g§~§{YV ZrMo {XE JE {MÌ H$m AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| 
Ho$ CÎma Xr{OE : 1+1+2=4 

   
 (i) ~{b©Z H$s Xrdma {H$g ~mV H$m àVrH$ Wr ?  

 (ii) ~{b©Z H$s Xrdma {H$Z Xmo Xoem| Ho$ ~rM ~Zr hþB© Wr ? 

 (iii) ~{b©Z H$s Xrdma Ho$ Qy>Q>Zo Ho$ {H$Ýht Xmo n[aUm_m| H$mo COmJa H$s{OE &   

25
4  1=4

 (25.1) {ÛVr` {díd ẁÕ {H$g df© g_mßV hþAm Wm ?  
 (25.2) ~{b©Z H$s Xrdma {H$g df© ~ZmB© JB© Wr ? 

(25.3) gmo{d`V g§K H$m {dKQ>Z {H$g df© hþAm Wm ?  
(25.4) 1985 _| gmo{d`V g§K H$s H$å ẁ{ZñQ> nmQ>u H$m _hmg{Md ~ZZo dmbo ZoVm H$m Zm_ 

{b{IE &  
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Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 24 :  4 1=4 

(24.1) Which popular slogan was given by Lal Bahadur Shastri ?  
(24.2) Which decade of Indian politics has been referred to as the 

 ? 
(24.3) Which candidate was supported by Indira Gandhi for the post of 

President in 1969 ? 
(24.4)  

25. Study the picture given below related to the Berlin Wall and answer the 
questions that follow : 1+1+2=4 

   
(i) What did the Berlin Wall symbolise ?  
(ii) Between which two countries was the Berlin Wall built ?  
(iii) Highlight any two outcomes of breaking of the Berlin Wall.  

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 25. 4 1=4 

(25.1) In which year did the Second World War end ?  
(25.2) In which year was the Berlin Wall built ?  
(25.3) In which year did the Soviet Union disintegrate ?  
(25.4) Name the leader who became the General Secretary of the 

Communist Party of the Soviet Union in 1985.  
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26. : 4 1=4 

 1980 Ho$ XeH$ _| X{bV Om{V`m| Ho$ amOZr{VH$ g§JR>Zm| H$m ^r CX` hþAm & 1978 _| 

~m_go\$  (BAMCEF) H$m JR>Z hþAm & `h g§JR>Z gaH$mar H$_©Mm[a`m| H$m H$moB©  

gmYmaU Q>́oS> ỳ{Z`Z Zht Wm & Bg g§JR>Z Zo ~hþOZ  `m{Z AZwgy{MV Om{V, AZwgy{MV 

\$Xmar 

H$s & Bgr H$m nadVu {dH$mg X{bV-emo{fV g_mO g§Kf© g{_{V  h¡, {Oggo ~mX Ho$ g_` 

_| ~hþOZ g_mO nmQ>u (~gnm) H$m CX` hþAm & 

(i) ~m_go\$  

(A) ~hþOZ Am¡a Aëng§»`H$ g_wXm` H$_©Mmar g§K  

(B) ~hþOZ Am¡a Aëng§»`H$ g_wXm` H$_©Mmar g§ñWmZ 

(C)  

(D) {  

(ii) ~hþOZ g_mO nmQ>u H$m JR>Z {H$g df© _| hþAm Wm ? 

(A) 1981 
(B) 1984 
(C) 1989 
(D) 1991 

(iii) ~hþOZ g_mO nmQ>u H$m g§ñWmnH$ ZoVm H$m¡Z Wm ? 

(A) ~r.Ama. Aå~oS>H$a> 

(B) _m`mdVr 

(C) _wbm`_ qgh 

(D) H$m§eram_ 

(iv) ~hþOZ g_mO nmQ>u (~gnm) Zo {H$g amÁ` _| AnZr nhbr gaH$ma J{R>V H$s Wr ? 

(A) n§Om~ 

(B) h[a`mUm 

(C) CÎma àXoe 

(D) amOñWmZ 
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26. Read the following passage carefully and answer the questions that  
follow :  4 1=4 

 The 1980s also saw the rise of political organisations of the Dalits. In 

trade union of government employees. It took a strong position in favour 

 the SC, ST, OBC and minorities. It 

was out of this that the subsequent Dalit Shoshit Samaj Sangharsh 

Samiti and later the Bahujan Samaj Party (BSP) emerged. 

  
(i) Choose the correct full form of BAMCEF : 

(A) Bahujan and Minority Communities Employees Federation  
(B) Bahujan and Minority Communities Employees Foundation 
(C) Backward and Minority Communities Employees Federation 
(D) Backward and Minority Communities Employees Foundation 
 

(ii) In which year was the Bahujan Samaj Party formed ?  

(A) 1981  
(B) 1984 
(C) 1989  
(D) 1991 
 

(iii) Who was the founder leader of Bahujan Samaj Party ? 
(A) B.R. Ambedkar  
(B) Mayawati 
(C) Mulayam Singh  
(D) Kanshi Ram 
 

(iv) In which State did the Bahujan Samaj Party (BSP) form its first 
government ? 
(A) Punjab  
(B) Haryana 
(C) Uttar Pradesh  
(D) Rajasthan 
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IÊS> L> 

27. (H$) n`m©daU õmg H$mo amoH$Zo Ho$ {bE ^maV gaH$ma Ûmam CR>mE JE {H$Ýht VrZ H$X_m| H$s 
ì`m»`m H$s{OE & 6 

  AWdm 

 (I) n`m©daU H$mo õmg go ~MmZo _| _hÎdnyU© ŷ{_H$m {Z^mZo dmbo {H$Ýht VrZ n`m©daUr` 
Am§XmobZm| H$s ŷ{_H$m H$mo ñnîQ> H$s{OE &  6 

28. (H$) H$moB© VrZ VH©$ XoH$a ^maV Ûmam AnZmB© JB© JwQ>{ZanojVm H$s Zr{V  H$mo Ý`m`mo{MV 

R>hamBE & 6 

  AWdm 

 (I) ñdV§Ì ^maV H$s {dXoe Zr{V Zo EH$ em§{VnyU© {díd Ho$ gnZo H$mo gmH$ma H$aZo H$m 

à`mg {H$`m h¡ &  VrZ Cn ẁº$ VH$m] Ho$ gmW H$WZ H$s nw{ï> H$s{OE & 6 

29. (H$) 1947 _| ñdV§ÌVm Ho$ g_` ^maV Ho$ g_j AmBª {H$Ýht VrZ _w»` MwZm¡{V`m| H$m 

dU©Z H$s{OE & 6 

  AWdm 

 (I) 1947 _| {~«{Q>e BpÝS>`m Ho$ {d^mOZ H$s à{H«$`m _| AmBª {H$Ýht VrZ à_wI 

H${R>ZmB`m| H$m dU©Z H$s{OE & 6 

30. (H$) {ÛVr` {díd ẁÕ Ho$ níMmV² E{e`m Am¡a A\«$sH$m Ho$ Zd ñdV§Ì Xoem| Ho$ gm_Zo AmBª 

{H$Ýht VrZ gwajm MwZm¡{V`m| H$s ì`m»`m H$s{OE & 6 

  AWdm 

 (I) ^maVr` gwajm aUZr{V Ho$ {H$Ýht VrZ KQ>H$m| H$s ì`m»`m H$s{OE & 6 
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SECTION E 

27. (a) Explain any three steps taken by the Indian Government to check 

environmental degradation. 6 

   OR 

(b) Explain the role of any three environmental movements which 

played an important role to save the environment from 

degradation. 6 

28. (a) Justify the policy of Non-Alignment  adopted by India, by giving 

any three arguments. 6 

   OR 

 (b) Foreign policy of independent India has pursued the dream of a 

arguments.   6 

29. (a) Describe any three major challenges faced by India at the time of 

independence in 1947. 6 

   OR 

(b) Describe any three major difficulties that came in the way of the 

partition of British India in 1947.   6 

30. (a) Explain any three security challenges faced by the newly 

independent countries of Asia and Africa after the Second World 

War. 6 

   OR 

 (b) Explain any three components of the Indian security strategy. 6 
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